Answer to Exercise


Chapter 4 Substance of Transactions

Answer – Exercise 1

Taurus, the supplier, must continue to recognize these items as inventory in their own balance sheet. They will be valued at their own historic cost of manufacture. They will not recognize a sale until Northern has sold the cars on to the final customer.

Northern will not recognize the cars held on consignment, nor will they show any related trade payable. They will however accrue rental payments on their unsold cars.

The assessment of risks, rewards and recognition is shown below:

	Criteria
	Who recognize the asset?

	1.
Supplier’s right to demand return of items
	

	Taurus may request the return of the car, but there is no mention of any penalty. This implies that Northern do not have any control or ownership rights over the car. Therefore the car should be recognized by Taurus.
	Supplier

	
	

	2.
Dealer’s right to return items to supplier
	

	Northern can return the car, and they will only have to pay administration charges as a penalty. This also implies that they are merely returning a car which still belongs to Taurus.
	Supplier

	
	

	3.
Obsolete inventory risk
	

	This will be born by Taurus as Northern can return any item without significant penalty during the first three months possession.
	Supplier

	
	

	4.
Slow-moving inventory risk
	

	Northern do have to pay a $50 monthly fee for each car held, but this is not large enough to be considered a finance charge to cover the slow-moving inventory risk, $50 per month equates to 5% p.a. on a $12,000 car. The prevailing rate of interest is 12%.
	Supplier

	
	

	5.
Benefit of future price increases (risk of future price cuts)
	

	Taurus can increase the price charges to Northern up until the date of sale. This means that Taurus will receive their share of any future price increase, and suffer any future price cut.
	Supplier


Answer – Exercise 2

(a) Reporting the legal form of the transaction

Statement of comprehensive income

	
	2000
	2010
	Total

	
	$
	$
	$

	Sale of timber
	3,000,000
	12,000,000
	15,000,000

	Cost of sales
	(2,000,000)
	(7,781,227)
	(9,781,227)

	Gross profit
	1,000,000
	4,218,773
	5,218,773


There will be no assets or liabilities recognized in the balance sheets from the date of sale until repurchase. Legally there are no inventories, and there is only an option to repurchase the timber than an obligation.

(b) Assessing the truthfulness of the reported transaction
The asset

The balance sheets of LLP completely ignore the asset of the maturing timber, even though LLP is responsible for the process and will benefit from its eventual resale.

The liability

In the normal course of business LLP will have to repurchase the timber in 2010. If the timber has gone up in value as expected then they will repurchase in order to make a profit on reselling it. If the timber has gone down in value, then they will still have to repurchase in order to maintain their credit rating with the Lehman Bank. If they were to refuse to repurchase then LLP would find it difficult to enter into similar deals with any bank in the future. This commercial obligation is not being recognized.

Income

In 2000 LLP claims a profit when all they have done is taken out a secured loan. It is not right to claim loan proceeds as income.

Also, the same timber gets sold twice (in 2000 and 2010), which inflates revenues.

Expenditure

The income statements for 2000 to 2009 do not show the $4,781,227 finance charge accruing on the $3m loan proceeds.

Summary

These financial statements do not show the assets controlled by LLP, nor the obligations and charges incurred by LLP. Nor does it explain why the Lehman Bank is prepared to pay $3m for an asset that is only worth $2m, and why they then sell the asset for $7.8m when it is really worth $12m.

(c) Reporting the substance of the transaction

Statement of comprehensive income

	
	2000
	2001
	2009
	2010
	Total

	Revenue
	-
	-
	-
	12,000,000
	12,000,000

	Cost of sales
	-
	-
	-
	(2,000,000)
	(2,000,000)

	Gross profit
	-
	-
	-
	10,000,000
	10,000,000

	Finance cost
	(300,000)
	(330,000)
	(707,384)
	-
	(4,781,227)

	Net profit / (loss)
	(300,000)
	(330,000)
	(707,384)
	10,000,000
	5,218,773


The total profit of $5,218,773 is the same as that reported using the ‘legal form’ of the transaction.

Statement of financial position

	
	2000
	2001
	2009

	Assets: Growing timber
	2,000,000
	2,000,000
	2,000,000

	
	
	
	

	Liabilities: Loan secured on timber
	3,300,000
	3,630,000
	7,781,227

	
	
	
	

	Working
	2000
	2001
	2009

	Opening balance
	3,000,000 (a)
	3,300,000
	7,703,843 (c)

	Interest at 10% (b)
	300,000
	330,000
	707,384

	Closing balance
	3,300,000
	3,630,000
	7,781,227


(a)
The loan is initially recognized at the net proceeds of $3m. This is consistent with the treatment of all other financial instruments.

(b)
Given in the question. $3m today equals $7,781,227 in 10 years’ time at 10% pa.

(c)
The present value of the repurchase price payable in 12 months.

Answer – Exercise 3

Seller pays a fee of 1.5% for each month that the receivables remain unpaid. This means that Seller has retained most of the slow-payment risk. However, the risk is limited to three months. After that, Factor bears the risk.

Seller is liable to 95% of any bad debt risk. Factor bears the other 5%.

For the above, it appears that Seller has retained most of the risks that arise in the normal course of business. This means that derecognition is not appropriate.

However, these risks have been capped by the factoring agreement. Therefore a linked presentation is appropriate.

Statement of financial position (extract) after factoring the receivables

	
	$
	$

	Current assets
	
	

	Trade receivables
	625,000
	

	Less: non-returnable proceeds (80% – 5%)
	(468,750)
	

	
	
	156,250

	Cash (proceeds of factoring: 80% of $625,000)
	
	500,000

	
	
	656,250


The administration fee and monthly fee will be charged to the statement of comprehensive income.

Answer – Exercise 4

(1)
Davies plc still has de facto (事實上的) control of the hotels and bears all the risks and rewards of Peters Ltd, even though Peters is legally a totally separate company and a subsidiary of Wilson’s Bank. This can be shown as follows.

· The management agreement gives Davies the right of control and all of the profits after interest.

· Davies will be able to claim all profits on the eventual resale of the hotels.

· Because the management charge is levied after interest, Davies is in effect bearing the cost of the loan.

Therefore, Davies should consolidate Peters.

(2)
The revised Davies Group financial statements will be as follows:

Group statements of comprehensive income for 2007

	
	
	$m

	Revenues
	
	2,400

	Cost of sales
	
	(1,475)

	Gross profit
	
	925

	Expenses
	
	(460)

	Management fee – eliminated
	
	-

	Operating profit
	
	465

	Profit on disposal of hotels – eliminated
	
	-

	Interest payable
	
	(195)

	Profit before tax
	
	270


Group statement of financial position for 2007

	Assets
	
	$m

	Non-current assets (400 + 1,280 at valuation)
	
	1,680

	Current assets
	
	1,300

	Total assets
	
	2,980

	
	
	

	Equity and liabilities
	
	

	Share capital and reserves
	
	

	Share capital
	
	50

	Retained profits (850 – 430 unrealised)
	
	420

	Revaluation reserve (100 + 430 revaluation)
	
	530

	
	
	1,000

	Non-current liabilities
	
	1,500

	Current liabilities
	
	480

	Total equity and liabilities
	
	2,980


(3)
The consolidated financial statements give a much more realistic assessment of the company’s performance, because all of the assets and liabilities under the control of Davies plc are being accounted for, along with the related charges for depreciation and interest. This is highlighted when financial ratios are calculated based on the legal form (Davies plc only) and the commercial substance (Davies plus Peters).

Key ratios

	
	Legal form
	Substance

	Operating profit %
	54%
	19.4%

	ROCE
	27%
	18.6%

	Gearing: Debt : Equity ratio
	Nil
	1.5

	Gearing: Interest cover
	Nil
	2.4
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